03099-50 7 EHMEMFE

7= miiEA

M
MEIR LN 1.4034,

I
AT EXNBEEAE,
THNR S ER T EBLE,

BR:
ENFREERTIrEER THRERE,

| SEEH 03099 T,
\J\\\\\u\\[ ] \]\\\\1

VI

Digf%
| —=1 ! s
= { |
| — :
K v
. DT
D2
_‘--_-@-_--}_
S
03099-50-04 Ml 4 M12x1,5 19 15,5 11,5 10 3 11
03099-50-05 M 5 M12x1,5 19 15,5 11,5 10 4 10
03099-50-06 k] 6 M12x1,5 19 15,5 11,5 10 4 10
03099-50-08 k] 8 M16x1,5 26 19,5 14,5 13 6 12
03099-50-10 EES] 10 M16x1,5 26 19,5 14,5 13 6 12
03099-50-104 TN 4 M12x1,5 19 15,5 11,5 10 3 11
03099-50-108 5N 8 M16x1,5 26 19,5 14,5 13 6 12
03099-50-105 THN 5 M12x1,5 19 15,5 11,5 10 4 10

© norelem www.norelem.com



03099-50 7 EHMEMFE

THS ES D D1 D2 H H1 L SW T
I L A

03099-50-106 M M12x1,5 19 15,5 11,5 10 10

03099-50-110 T 10 M16x1,5 26 19,5 14,5 13 6 12

© norelem www.norelem.com



